Best model for HELP J143056.152+332556.091 at z = 1.35 x?=1.11

OPTx?=0.6 IRY?=3.52 threshold (OPT IR)=18.8 [um]

Stellar attenuated

102 [ Stellar unattenuated
q —— Dust emission
1 1 [ —— AGN emission
10 3 = Model spectrum
q ® Model fluxes
o1 M oObserved fluxes
100 -
E ]
E 10714 o
X q ‘,"r""fﬁ(
2 _Y';:"‘.'r"-ﬂ*y—r---
w 1072 E
1073 3
_a ] m
207 3
=) 3
= ] ==f=(Obs-Mod)/Obs
3 ]
.'9 1 H
s ]
S0 __.w_ ____________________
o ]
g ]
5 ]
f_U—l T T T T T L |
& 10° 10! 102 103

Observed wavelength [um]

T CIGALE



